EARAROBREBRT —5 XN—ZXBISH—F 2024118178 (H) 6DIR#6H

R EEEYYAE S It ral BN
[#E<] 1 7% :5,500,000 . 23 :2,200,000 3 . 33 :1,400,000 3 . 43 :830,000H 53 :550,000
FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
o M. FL—0O :53. -2-2- . . EUER (FER)
FamUay 2| Mo 1(5_3)6 2-2-2-2 [37.3] 847 | 4 528;) e
RiFRIAPI—R B:IUYFRY ®INTT— L
© hE— :54. -1-1- . . FBEES (ER)
Ry RIT# )LD G A4 (1251‘1'/2% R R A ff; ISk
RVS7VAL—Y B:v—T 4T kU— IV TF— L
= . < [GilipNa1 : -4-2- Hozes (5ER
S S # 2 | B 1(75?:; 4-4-2-2 |38.1)|80.2 | 1 (i?;) e R
RiY—boF—U7 B:FATFILT—UY BHT7—L
-3 )1 s o2 | BEEN 1:56.1 12-12-5-4 |39.4| 63.6 | 3 | 460 |BAE (FR)
—v/Jz94 56.0 (544) () | LT
R:Id—=ILRRU—LA B:RI—RZI1Y3 ML fREE
S S 2 | TR 1:56.2 11-11-8~ . . BHOE (FER)
518|12| XM ¥3avAIKRY # 56.0 (35/64) Fo| B3 @7 6 ig;) ARG IE
Ry d—=9)LYIT §:O7UY i —=
" i o2 | ENEfE 1:58.3 7-8-5-6 | 41.7| 49.2 | 7 | 448 |/N\Ef@SL (5A)
EH 8| AvITYNVT 56.0 (501 w2 | @ EvTlykIr—1
R:TUYIRATP Y REIWLIIL B:5TFII2)bx EvIULy RIT7—L
= s 2 | BOBX 1:58.5 2-2-2-4 | 42.3| 48.7 | 9 458 | KBS (FR)
7155 | FLZTL=T 2540 a1/4) © |ErEL
RIFRESTIN B:FLSTAFR BH IS
T =)=t 3 -7-8- RIEBX (FRN)
87| 9| PoYRINILL 2 | BB 2.((1)8).2 7-7-8-9 |43.1| 38.1 | 8 (11?3) EEE&—
R:O—RAFO7 B:HIYRNUF— HET7—L
— » SEEB—ER :00. -6-10- . . At ()
9 4| 7RI—ZEY # o2 | K (23010/25) 6-6-10-9 | 43.6 | 35.0 | 10 (:1;(2)) i
RIE—UR BEXAVIUAYSS oiree)
ty 2 | SHHZE 2:01.4  |9-10-12-1243.2 | 30.0 | 5 | 490 |HE4ASR= (FR)
10(8]11| L1¥— £54.0 G172 o | @ /—2ELZ
RiLAF40 F:FEIIVH HRAH /—RELR
SR 4 2 | WERREX 2:01.6 5-5-5-8 | 44.9| 32.6 | 12 | 454 |SHBE3L (RN)
1M17[10| AX—FZD2V R A52.0 a1/2 () | Kl
R:IVvRIVITA B:AX—HM/ I RIS
N FOER :02. -9-11- . . aR E=R)
lsle | TvyrFa7 2 | FH 2?72)7 9-9-11-11 | 45.3 | 26.5 | 11 (5_026) Ey—.;fg:
RinZ—ka—R B:ST=—-FU5— FRERS
[ BN
Enty) 50.8-37.6
NOYS AL | 12.5-11.5-12.8-12.9-13.1-13.2-12.6-12.4-12.6
@ 1—F—&EBIE(
13—F+— 1(5,7)2,10-4-(8,9) (6,11)12,3
20—F— 1(5,7)2,10-4,9,8-6,11,12,3
30—7— 1(2,5,7)-(8,10,3) (12,9)4,6=11
40—F— (2,#1,7)-(5,3)-(8,12)10=(4,9) 6-11
[ B/N-S
B B 7 890H | | DA K 1-7 360/ % & 1-6 1,500 3EE 1-2-7 720M
5 B 7 1401 2-7 310/ F5 & 1-7 1,360 3EE 7-1-2 7.370M
1 110M 1-2 170M =] 7-1 3,330
2 110M

ABIC OV TRUTEREERRODDZE. THRIIZEL.



